= BIRTHDAY

\"i Word Problems

w Read each word problem.
Circle the correct operation + or -
to complete the equation. Then, add or subtract
the numbers and circle the correct total.

Matt is really excited for his 7th birthday party today!

Matt is hanging balloons around. He has 5 blue balloons
and 6 purple balloons. How many balloons does he have in total?

9 + - 0-9
2 9O 9

Matt and his friends ate pizza for dinner. There were 12 pizzas.
The children ate 7 of them. How many pizzas were left over?

® + -
.
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